ERRKRDHES

ERT—IN—2IBISH—F

2023588118 (&) SEIEI2H

10R [ie)=ks]

B3 USXx—i%

‘(fﬁ} W ‘I%EH?’JFE‘?] I

[AES] 1%:2,700,00 9 / 27&:

1,080,000 F 3 7&:

675,000 3 4 7&:405,000 F 5 3&:270,000

B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
P S o - - H—2 G
1111|743 —ILR 3 %Tgﬂﬁi ‘}6_)7 S 1 f;; [2147?)(?*—1])7’347\“ (#)
RIAR—KT7IVAY B:T7U—RF JBHE R
=Sy s 5 | BEE 46.9 3-3 34.4| — 4 | 478 | FEARBE GBI
A3 —595 54.0 (112 (21 |BESX
RS IIVITYR 87U HOvFIT7—LA
5 - - F &
HIAA o4 | BHE 4(73.)5 44 | 35.0 3 (fg) %ﬁgﬁﬁ (AA0)
RiAASRZ—9 B:ORETHA BRI T7—L
< = e # 5 | CYHREB 47.5 1-1 354 — 2 451 | FHEE (o)
/|\\./T :I“/\ ~ ' o #53.0 N\F) ) /J\WZTET :
RYIRI( TSR BAIRTFR=— TS
3 5 | RESH 47.6 6-5 4.7 - 5 530 | LGS CAD)
RYZAI—ZZRI— B:HYISTAR LIRS
~ EAED - - FLER
YISy FUIUY * o8| fAEs 4?5')7 6| B2 6 (45; ia‘afjg‘iﬁvmzvxyh )
R:7vES—L #8:aVY—hR—R et
—F—EElERL
13—7F—
20—F—
30—F+— 5,1,6,2,3,4
40—7F— 5,1,6,2,4,3
0 ILRE
BB 1 130 JA R 1-6 3004 B E 1-6 1,440 3ER 1-2-6 1,360
B B 1 140 1-2 130M o= 1-6 1,760 3Es 1-6-2 4,980M
6 650 2-6 650
ABCDOVTIRHTERERRODDZ, THERAILZETL




